words were non-words compared to other non-words that did not sound like real words.

Participants must have used the similarities in sounds- acoustics — tO call up the meaning of
the real words that sounded the same nd this led to the slower response time. Their LTM was

using an acoustic code as well as a semantic one.

That we can remember a voice we haven’t heard for years and can remember a tune to a 50ng

s all evidence of an acoustic code in LTM. That we can recall people’s faces and the image of
our old school provides evidence of the visual code. Smells also bring back vivid memories,
such as the smell of sun tan lotion and holiday memories. However, memories related to

senses other than hearing and seeing 18 currently under-researched.

3 Critics argue that memory is not passive but is active and constructie in nature. That i3, the
normal state for memory is one where it actively attempts to create a meaning to the
information being learnt. This <Constructivist’ approach was first developed by Bartlett
(1932). In a study he showed participants ambiguous pictures which he later asked them to

draw from memory €.g. :

When drawing the image many participants would give a verbal description. Some described
it as an anchor and others as a pick-axe or shovel. This demonstrates how memory is active in
trying to impose meaning on the information one is trying to leamn and remember. This led
Bartlett to introduce the term “efforts after meaning’.

Rartlett also arranged for participants to read an obscure story called “War of the ghosts’. It
includes, for Westemers, many unfamiliar events and details and Bartlett found that in
recalling the story, participants often created new details that made it appear more logical
fom a Westerner’s perspective. This again illustrates the active nature of memory.

[Loftus (1974) has carried out extensive research on the accuracy of eye witnesses’ memories
(see P303 39 Ed or P313 4" Ed Gross) and has found that witnesses and participants n
studies will often inadvertently create new memories around an event they have witnessed
according to what they would have expected to have happened. This show that memory 1sn’t
passive but 1s an active process that attempts 10 construct meaning and often by drawing on
what we would expect to have happened. Where we draw on our experience and expectations

to make sense of new - formation it is called the Top-down approach.

4 Glanzer and Meinzer (1967) also argue that memory isn’t passive as the Multi-store model
suggests. They asked participants to learn words, some by speaking those words aloud and
some by reading them silently. The words that were read silently had a much higher recall.
The researchers concluded that this was because reading the words silently also allowed the

participants to make other connections between the words and the information they have .
already stored in LTM. This type of rehearsal 1s called elaborative rehearsal. The words read

aloud were learnt using maintenance rehearsal i.e. they were stored in their acoustic code only




_and as such were less well remembered. Elaborative rehearsal allowed the words tabe learnt
in a more meaningful way.

Questions.

1. Define memory.

i

What is meant by the information-processing approach?

3. With reference to memory, explain the difference between bottom-up and top-down
processing.

4. What three features characterise STM and LTM?

5. What does 7+/-2 refer to?

6. In approximately 70 words describe the finding of the Brown-Peterson curve or Glanzer
and Cunitz’ results.

7. Outline one study that illustrates the dominance of the acoustic code in STM  Use the term
acoustic error in your answer. o

8. Name two pieces of evidence that you haven’t so far referred to which suppors the Multi-
store model. | "

9. True or false — Sachs’ study supports the dominance of the visualisation code in LTM?

10. What is the difference between Anterograde and Retrograde Amnesia?

11. The Multi-store model assumes memory processes information in a passive way and in a
bottom-up fashion. Explain what this means.

12 The studies in the Evaluation section provide evidence of an acoustic code in LTM and a
semantic code in STM. Name a psychologist to support each piece of evidence and outline
one of the studies in fifty words.

13. Explain, in a sentence, what is meant by the Constructivist approach.

14. Why do Glanzer and Meinzer believe that elaborative rehearsal supports the
constructivist, top-down approach?
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:’?..(Eraik gnd Lockhart were accused of providing only a description of what happenedi ¢.
information that was semantically analysed was better remembered but they didn’t attempt to
explain why t:hls should be so. Tyler’s TEE offers an explanation and other psvchologists
have emphasised the importance of elaborative encoding — that 1s, 1n processi;m information
at a deep level more links are made with existing memories. This also adds weight to the idea
tha_t memory is constructive and active and searches for meaning, rather than the Atkinson and
Shiftrin interpretation of memory as one that absorbs information passively.

Questions.
l%. Name and briefly define the three levels of processing in Craik and Lockhart’s model.
16. In not more than fifty words describe one of the two studies referred to.

17. What does TEE stand for? Explain why Tyler argues the factors the term represents are
important. '

3
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3. Tulving’s (1972) Episodi

Tulving criticised the Multi-Store model for being too simplistic. He argued that this was
because the experiments on which its features are based did not reflect how memory worked
in the real world (they lacked ecological validity). Atkinson and Shiffrin argue that we have a
memory of images, where we use the visualisation code. Tulving re-defines this as Episodic
memory, a kind of autobiographical memory — a memorty of personal experiences, of events,
people and situations we have experienced. It includes not just images of the objects, people

and buildings from these events but also the kinds of emotions associated with the event
ecti nformation on where and when it occurred

cefer to the memory of an event that is speci

memory, when and where it occurred and
felt when the Twin Towers collapsed

[n place of how the Multi-store model and the Levels of Processing model define the
Semantic memory, Tulving broadens its definition to include not just the meaning of words
but also our memory of general knowledge. It is like an encyclopaedia-cum-dictionary.

argues that memories can also be categorised into Procedural and
refertoleamingmdtbeuscoftmoﬁuﬁmdo

Later, in 1985, Tulving

Declarative memories. Procedural memories : the v o ‘
not require conscious effort. For example, motor skills such as swimming, nding a bike or

driving can be undertaken without conscious effort to the motor skills involved Declarative
emories refer to our responses where we consciously draw on our memories o produce a
responsel For example, you use Declarative memory when you write and essay and when first
|earning to drive a car one consciously draws on the memory of what the clutch, brake and

accelerator do and how they need to be co-ordinated.

LV
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From Tulving’s account of memory you can see that it attempts to explain how memory

functions in the real world and later models have attempted to analyse memory in more
ecologically valid ways.

Questions

18 Define and give an example of Episodic and Semantic memory.
19 What is the difference between Procedural and Declarative memory?

20. Outline one way in which Tulving’s interpretation of memory differs from that of earlier
approaches.

"

4. The Working Memory.

Baddeley and Hitch (1974) criticised Atkinson and Shiftrin’s interpretation of the STM as
simply a passive container of inputs that have been learnt by repetition and which holds that
information until it can be passed on to LTM or is lost. One finding, not considered by
Atkinson and Shiffrin’s interpretation of the STM, is that its efficiency is determined not just
by its ability to send information on to the LTM but also on its ability to receive information
 from the LTM. DeGroot (1966), for example, found that expert chess players, if shown a
chessboard and the pieces for only a few seconds were able to report the location of most of
the 32 pieces on the 64 squares so long as the pieces corresponded to the rules of chess. This
feat was way beyond most non-chess players tested and it was possible because the chess
players were able to draw on their rules of chess in their LTM and use this to analyse and
organise the information they are presented with for a few seconds in their STM.

For Baddeley and Hitch the STM is better conceived as a Working Memory (WM). Itis not a
passive recipient of information but an active processor of information. It contains four
features — The Central Executive which acts as a manager and allocates sensory information
to the other parts of the WM. The Primary Acoustic Store is our memory of what has just
been said and this can be referred to as our ‘inner ear’. The Articulatory loop or phonological
loop refers to where we are reading silently or are articulating words in our mind. It is aform
of inner speech and is referred to as the “inner voice .

When you are reading part of a text book you may re-read it a few times silently and if it
appears particularly complex you may decide to read the text aloud to see if it helps you
understand it better. In the first case you are using your inner voice and in the second your
inner ear. By double-processing information in this way you are attempting to process it more

deeply.

The Visuo-spatial scratchpad refers to our memory of visual and §patial information. Fo::
example, if you imagine the journey from home to college you will be. able to recall not just
the images of the buildings you pass and the roads en route but you will also have a memory

11



Ot the olstance involved on the journey and the zme it would take o complete it These are
the spatial inputs. This is reterred to as the “iweer eve "

YOou may be thinking that this is ail information in the LTM and the WM is supposed to be a
Substitute tor the STM. The point is, this information is in LTM but can oaly be accessed
through the STM and 50 the STM must have the facility to deal with such information and
Baddeley and Hitch's WM does

Baddeley and Hitch challenged Milter's claim that the STM bad a capacity of 7+/-2 items of
wntdrmation. They tested participants’ recall oa lists of words learnt by repetition. Eigie words
were i each hist but in some lists the words were long and in some short. Miller would predict
that there should be similar recall in each list because they contain the same mumber of items
However, Baddeley and Hitch found that there was sigmificantly lower recall m the Ests with
the loager words. They used these findings to argue that the Articulatory loop is amalogous to
a strand of audio tape which will be tilled by fewer words if those words take loager to say

Heyer and Barrett showed participants eight letters arranged randomly m a four by six square
their locations. The participants would remember the letters by repeatmg thewn m thesr head -
the Art




ACTIVITY ¢

| ' ' rds at a steady pace. thinking of a
h h the following list qf WO t: y .
:l:?:i:'lgﬂ:vuagrd for each word marked (R), or a meanfng-rel'ated word for
each of those marked (M). For example a ri}yme ft:{r bread’ could be
‘head’, a meaning-related word for ‘tree’ might be ‘leaf’.

boy {M]) flower (M)
ship (R) la%.e (R)
house ({R) milk (M)
book (M) sand (R]
arm (M) gate (M)
cow (M) ink (R}
sky (R) ball (R}
bell (R} ' map (M]
face (R) hill (M)

i i words as you can recall.
Now cover up the list and write down as many -
Then check your answers and total up the number of M (meaning) words

and the number of R (rhyming) words you remembered.

List } List 2 List 3 List 4 List § List 6
barricads  ecrincheir  jcicle proud parchment sepuichre
children glove-sworm jnstruceor sticrup sold £10me
diet outhouse  kidney vitlain barodess sStage
gourd troll lapel rodiac lever Patriarch
folio . handshakec crooner decr menservent diploma
meter hoarfrost  fumne! arbitrator. divan minstrel
journey’ clephant  carpet beginner  emporium mayonncise
mohair pumpkin  haystack  courtrcom wood porecullis
phoenix sraveyasd  hopper hobby sorge dyle
crosshow  cansul: chaacery recasles windscreen eifigy
alligator ftle simpleton ogre armada tiger
doorbell packegs =~ theatre nosegay beverage
‘muffler playhouse stencil filtm flowcrpot.
menu ferey urn pcg lotion
nchula dumpling  slug 2gon archer Inspecios
overcos: hced-dress Pharmacy  d:sformi:y
Recall Recall Recall 3 9 5
* +7 -5 -3
-6 -8 -7
+3 +3 -
e - +9
-1 +4 3
+3 -§ -8
+9- -2 +5
-§ +7 =1
Recall Recall Recall



